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Advanced Geometry Starter

Find the value of c that completes the square.

1.   x2 ­ 18x + c 2.   x2 + 10x + c

Solve by completing the square.

3.  x2 ­ 8x = 20 4.  x2 + 2x ­ 89 = 10

Fill in the blanks.

5.  x2 ­ 6x + y2 + 8y = 24

     x2 ­ 6x + ___ + y2 + 8y + ___ = 24 + ___ + ___

    (x ­ ___)2 + (y + ___)2 = ____
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The Equation of a Circle
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Example 1:
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Example 2: Find the center and the radius of the circle.

The center is at (­2, 4) and the radius is 2.
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Example 3: Find the center and the radius of the circle.

In order to write the equation in standard form for a circle, 
we need to complete the square for BOTH the x's and the y's. 

Don't forget to move the constant to the right!!!

4 16 164

(x + 2)2 + (y ­ 4)2 = 4
The center is at (­2, 4) and the radius is 2.
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1.  x2 + 2x + y2 + 10y + 22 = 0 

2.  x2 + y2 – 14y + 38 = 0 

3.  x2 – 10x + y2 + 8y + 33 = 0 

x2 + 2x + y2 + 10y  = ­22
x2 + 2x + 1 + y2 + 10y + 25= ­22 + 1 + 25 

(x + 1)2 + (y + 5)2 = 4

x2  + y2 – 14y  = ­38 
x2  + y2 – 14y + 49 = ­38 + 49 

x2 + (y – 7)2 = 11

x2 – 10x  + y2 + 8y  = ­ 33
x2 – 10x + 25 + y2 + 8y + 16 = ­33 + 25 + 16 

(x – 5)2 + (y + 4)2 = 8

Drag the steps to 
complete the problems. 
Then identify the center 
and radius for each circle.
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Example 4:

(x ­ 0)2 + (y ­ 0)2 = 72

x2 + y2 = 49
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Example 5: Find an equation of the circle with center at (0, 0) 
that passes through the point (­1, ­4).

The point (­1, ­4) is on the circle so should work when we plug it in the equation:

Therefore, the equation is:  
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Example 6:

(x ­ ­2)2 + (y ­ 5)2 = 62(x ­ ­2)2 + (y ­ 5)2 = 62

(x + 2)2 + (y ­ 5)2 = 36
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Example 7: Find an equation of the circle with center at (8, 2) 
and passes through the point (8, 0).

(x ­ 8)2 + (y ­ 2)2 = r2
Since it passes through the point (8, 0) we 
can plug this point in for x and y to find r2.

Solution:  
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Example 8:
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Example 9:

9 94 4
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Where is the center of the circle?

http://teachers.henrico.k12.va.us/math/hcpsalgebra2/7-3.htm
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Classwork:
Complete "Notes:  Circles in the Coordinate Plane" with your partner

Homework:

• p. 635 #1 ­ 8, 11
• 10.4 Index Cards
• Watch "Walk Around Example" video
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1.  Write the equation of a circle with center 
(­3, 0) and radius 7

2.  Given the circle with equation 
        (x ­ 4)2 + (y + 9)2 = 25
a)  What is the center?
b)  What is the radius?

3.  Write the equation of a circle given:
center is (­1, 5) 
(­6, 17) is a point on the circle

EXIT SLIP
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